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Section 2.4: Graphing Lines \[ _l ‘S
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The graph of an equation of theformy = Ax + Bisaline.
If A >0, then the graph will RISE as we move from left to the right.
If A <0, then the graph will FALL aswe move from left to{“ug?ﬁ
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Example1: Graphtheliney =x—-1

Start by filling in the missing values 5]
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Example2: Graphtheliney = —2x + 2 . (‘)_tb\

Start by filling in the missing values
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Equationsof aLine

Forms of Equations:
1. Thestandard form of alinear equationisgivenby Ax + By = C whereAand B
cannot both be equal to zero.

Example: 2x — 4y = 12

The point-slope form of alinear equation is given by S IER(x = %) where

Iiistheslope and the line passes through the point (x;, y;).
Example:
p 75, =-2 (5 5>

3. Theslope-intercept form of alinear equatlonlsglven byy=mx+bwheremis *
m

the slope and b is the y-intercept.
Examplely = 2x + 1 \
m=7 \\-\t\\ <A jﬁ

Example 4: Find an equation for the line with a slope of 4 and a y-intercept of 1.
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Example 5: Find an equation for the line with a slope of -3 and a y-intercept of -2.
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Example 6: Find an equation for the line with a slope of -5 and passing through the point (2, 8).
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-Q=-Ky+\
V=8=-5(x-2) 1 SN

Example 7: Find an equation for the line with a slope of 4/3 and passing through the point (6, 26).

Y= m(x 0 31824 (x-¢)
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Exa@gb@ Find an equation in slope-intercept form for the line that passes through the points (-6, 2)
and (O, -4).

“\2\\1 b B—_z‘_ = “é’
X=X, O (—Q (:a
e ey T y=x-4
-2 =-A (x=(-0)

=2= A {xr6)
V4= 6
%) Yy

Exar’g[p_l%% Find an equation in slope-intercept form for the line that passes through the points (-2, 2)

and (4
- "“'_Z 2 = -u -:_..L\_':_ -2
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